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BmEILEE (FERMA FRF1TR - IR - 4 fE (9B ~ 1385) 4h H26.4.1] 2730 4,090 149.8%
N ] rl:i’—‘y%@{%% R E - 44 (13FF~ 176F)4h H26.4.1] 2,730 4,090 149.8%
[FHEATEE IREE - A fE (9B~ 1785) 8h H26.4.1] 5500 8,180 148.7%
RE - A (EFRESN) 1h H26.4.1 810 1,210 149.4%
—fi% - 22 A (9BF ~ 138F) 4h H26.4.1] 5500 8,250 150.0%
—fi& - 4 (130 ~ 178%) 4h H26.4.1] 5500 8,250 150.0%
—fi% - 22 A (9BF ~178F) 8h H26.4.1] 11,000 16,500 150.0%
—h% -4 (BERISN) th H26.4.1] 1630 2,440 149.7%
= A (9FF~130F)4h H28.4.1] 2750 4,120 149.8%
EEhE (138 ~1785)4h H28.4.1] 2750 4,120 149.8%
= A (9FF~178F) 8h H28.4.1] 5500 8,240 149.8%
= EE (B 1h H28.4.1 810 1,210 149.4%
ZOHOEYIZ |- (9BF ~ 130F) 4h H26.4.1] 11,000 16,500 150.0%
ERT5E (130 ~178%) 4h H26.4.1] 11,000 16,500 150.0%
(9FF~178F) 8h H26.4.1| 22,000 33,000 150.0%
(B 1h H26.4.1] 3300 4,950 150.0%
BEARUERESE [EAFA - IR - A fE (9B ~ 1385) 4h H26.4.1 40 60 150.0%
g IR & - £ 4E (1385 ~ 1 78%) 4h H26.4.1 40 60 150.0%
IR & - £ 45 (178 ~2185F) 4h H26.4.1 40 60 150.0%
RE- A EHF11H) H26.4.1 400 600 150.0%
— % - 22 A (9BF ~ 138F) 4h H26.4.1 80 120 150.0%
—h% -4 (1385~ 178F) 4h H26.4.1 80 120 150.0%
— & -4 (178 ~218%) 4h H26.4.1 80 120 150.0%
—h% A (EHE 1R H26.4.1 800 1,200 150.0%
S A (9FF~136F)4h H28.4.1 40 60 150.0%
EEhE (138~ 178) 4h H28.4.1 40 60 150.0%
ShE (178 ~218) 4h H28.4.1 40 60 150.0%
= EE (B 1180 H28.4.1 400 600 150.0%
ESVERBE LT |- RE-£HfFEOQA-1[E) H26.4.1 30 -
LTLBBED —fE-FEAA-1E) H26.4.1 60| el -
e ShE (1 A-1E) H28.4.1 30 =
e R BABEEE |- (9B ~ 138%) 4h H26.4.1] 1,100 1,650 150.0%
(13KF~178F) 4h H26.4.1] 1,100 1,650 150.0%
(9FF~ 178F) 8h H26.4.1] 2200 3,300 150.0%
(B¥RES) 1h H26.4.1 530 790 149.1%
BS B ER |- RE -4 (284T-1h) H26.4.1] 1310 -
FROEE) RE-&£HE1/284T-1h) H26.4.1 650 -
—hE-FHE (£54T-1h) He641] 26300 -
— &4 (1/258 4T - 1h) H26.4.1] 1310 -
EEE (28T 1h) H28.4.1| 1310 =
SEE (1/254T-1h) H28.4.1 650 =
FHE - - BEkE—= H26.4.1] 100 150 150.0%
EEBtA—= H26.4.1 100 150 150.0%
RIBEHE H26.4.1 100 150 150.0%
B AR H26.4.1 100 150 150.0%
BaEEy—=K H26.4.1 100 150 150.0%
Hyh—a—)LRAL 1] ik - 100 -
LEUNDEDTI R H26.4.1 40 60 150.0%
BRIl (ERME FIF1TR - IR & - 4 4E (9B ~ 138%) 4h H28.4.1 620 930 150.0%
B BE RV EDEY RE -4k (138~ 178¥) 4h H284.1| 620 930] _ 150.0%
I~ERY S5 IR EE - A 4E (9B~ 178%) 8h H28.4.1] 1,250 1,860 148.8%
RE - £ 4 (RS 1h H28.4.1 170 250 147.1%
—fi& - 4 (9B~ 130 ) 4h H28.4.1] 1250 1,870 149.6%
— %224 (1305~ 178%) 4h H28.4.1] 1,250 1,870 149.6%
—fi% -4 (9BF~176F) 8h H28.4.1] 2,500 3,740 149.6%
— % - 4 (BFRES) 1h H28.4.1 340 510 150.0%
S A (9FF~1385)4h H28.4.1 620 930 150.0%
S#E (13F ~178F) 4h H28.4.1 620 930 150.0%
ElhE (9FF~1785) 8h H28.4.1] 1,250 1,860 148.8%
= EE (BFRES) 1h H28.4.1 170 250 147.1%
ZOMDEMIC |- (9B% ~ 138%) 4h H26.4.1] 2510 3,760 149.8%
ERYSHE (1385 ~ 178%) 4h H26.4.1] 2,510 3,760 149.8%
(9FF~178F) 8h H26.4.1] 5,040 7,520 149.2%
(BRES) 1h H26.4.1 750 1,120 149.3%
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BmRILE (ERMA - IR EE - A 4E (9B ~ 130%) 4h H26.4.1 700 1,050 150.0%
%15 IRE - £ 4E (1385 ~178F) 4h H26.4.1 700 1,050 150.0%
BT - A fE (9 ~176%) 8h H26.4.1] 1410 2,100 148.9%
RE - £ 4 (RS 1h H26.4.1 180 270 150.0%
— & -S4 (OB ~ 13F%) 4h H26.4.1| 1460 2,190 150.0%
—fi% - 224 (1385 ~ 1785) 4h H26.4.1] 1,460 2,190 150.0%
— % -2 4E (9B ~ 178F) 8h H26.4.1] 2,930 4,380 149.5%
—fi% -4 (BFRES) 1h H26.4.1 390 580 148.7%
S HhE (9FF ~ 136F) 4h H28.4.1 730 1,090 149.3%
S E (13K~ 17/F) 4h H28.4.1 730 1,090 149.3%
ShE (9B ~178F) 8h H28.4.1| 1460 2,180 149.3%
=i E (FFESL) 1h H28.4.1 190 280 147.4%
BAES - RE-41%1h H26.4.1 160 240 150.0%
RE - £ 4 RS 1h H26.4.1 180 270 150.0%
—f&-F41h H26.4.1 340 510 150.0%
— % -4 (BFRES) 1h H26.4.1 390 580 148.7%
=& 1h H28.4.1 170 250 147.1%
=i E (FFESL) 1h H28.4.1 190 280 147.4%
MR lE BRBEEE (9B ~ 130%) 4h H26.4.1 650 970 149.2%
(1385 ~178F) 4h H26.4.1 650 970 149.2%
(9B~ 170F) 8h H26.4.1] 1310 1,940 148.1%
(BERES) 1h H26.4.1 310 460 148.4%
REE (9% ~ 138%) 4h H26.4.1 260 390 150.0%
(13~ 178%) 4h H26.4.1 260 390 150.0%
(9RF~ 170F) 8h H26.4.1 530 780 147.2%
(BERES) 1h H26.4.1 125 180 144.0%
v 1A-1[E] H26.4.1 20 30 150.0%
e 1R H26.4.1 40 60 150.0%
=Nt 1@E-1h H26.4.1 160 240 150.0%
BRIk (FRFA 25m RE-£4Eh H28.4.1] 460 690  150.0%
xT—IL —f&-F4%1h H28.4.1 930 1,390 149.5%
SEE1h H28.4.1 460 690 150.0%
50m IRE -4 fE1h H28.4.1 990 1,480 149 5%
—f&-F4%1h H28.4.1] 2,000 3,000 150.0%
SfhEh H28.4.1 990 1,480 149.5%
A P BE-4£41h H28.4.1 990 1,480 149.5%
—f{%-FH&E1h H28.4.1] 2,000 3,000 150.0%
EihEh H28.4.1 990 1,480 149.5%
BEARVEKRE [EAAFA IRE - £ E2h H28.4.1 100 150 150.0%
RE-AfFEHEHF11H H28.4.1] 1,000 1,500 150.0%
— % -4 2h H28.4.1 200 300 150.0%
— iy -2 (E 118 H28.4.1] 2,000 3,000 150.0%
EihE2h H28.4.1 100 150 150.0%
EEE (EF 1R H28.4.1] 1,000 1,500 150.0%
MEER R IR BRBEEE (9B ~ 130%) 4h H26.4.1] 1,100 1,650 150.0%
(13FF~178F) 4h H26.4.1] 1,100 1,650 150.0%
(9Fs~178F) 8h H26.4.1] 2200 3,300 150.0%
(BREISE) 1h H26.4.1 530 790 149.1%
KEE (9B ~ 138%) 4h H26.4.1 530 790 149.1%
(13FF~178F) 4h H26.4.1 530 790 149.1%
(9B~ 178F) 8h H26.4.1] 1,100 1,580 143.6%
(B§REISY) 1h H26.4.1 530 790 149.1%
ROERE (9B ~ 138%) 4h wE - 790 -
(138§~ 170%)4h wE - 790 -
(9B~ 178%) 8h i - 1,580 -
(BFREISE) 1h b - 790 -
o—=2T=F (9B ~ 138%) 4h i - 930 -
(1385~ 1785) 4h b - 930 -
(9B~ 178%) 8h i - 1,860 -
(BFREISE) 1h b - 930 -
H2BA(25m) 1h ek - 720 -
B2 BA(50m) 1h ek - 1,440 -
AR a—ZHA—7 (50m) 1] e = 2,420 =
BAT— RAT Ls(25m) 1 @ P _ 6,820 _
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HiEfE [(BERFA TU—F& FIRF1TA |- IR & - 44 (9B ~ 138%) 4h H26.4.1] 15,150 22,720 150.0%
‘k—_“J%”rOME IR - A 4E (13~ 178) 4h H26.4.1] 15,150 22,720 150.0%
@A‘ﬁﬁﬁ#é BT - A fE (9 ~176%) 8h H26.4.1] 30,320 45,440 149.9%
= RE - £ 4 (RS 1h H26.4.1] 4,150 6,220 149.9%
—fi& - 4 (9BF~ 130 ) 4h H26.4.1] 18,490 27,730 150.0%
— %24 (1305~ 178F) 4h H26.4.1| 18490 27,730 150.0%
— % -2 4E (9B ~ 178F) 8h H26.4.1] 36,990 55,460 149.9%
—fi% -4 (BFRES) 1h H26.4.1] 5070 7,600 149.9%
S5 (9K~ 136%) 4h H28.4.1] 15,150 22,720 150.0%
S#E (13K~ 178F) 4h H28.4.1] 15,150 22,720 150.0%
S (9FF~178%) 8h H28.4.1] 30,320 45,440 149.9%
=i E (FFESL) 1h H28.4.1| 4,150 6,220 149.9%
ZOMOEY |- JEEFI B #Y (985 ~ 138%) 4h H26.4.1| 25,150 37,720 150.0%
[CERT 25 JEE 71 H 89 (1365 ~ 1755) 4h ho6.41| 25150]  37720]  1500%
= JEEFI| B 84 (98F ~ 178F) 8h H26.4.1] 50,320 75,440 149.9%
JEEFI B Y (BFRESH) 1h H26.4.1] 6,900 10,350 150.0%
E 7 B 1 (985~ 138F) 4h H26.4.1] 104,180 156,270 150.0%
= B8 (138~ 1785) 4h H26.4.1] 104,180 156,270 150.0%
E 7 B # (95~ 1785) 8h H26.4.1] 208,370] 312,540 150.0%
EFI B 8 (FFES) 1h H26.4.1| 28,640 42,960 150.0%
HEfE (ERAMA FHAE B R FIFATAR ([SBRE |\RE- 44 (9B~ 138) 4h H26.4.1] 4110 6,160 149.9%
7'{__‘7%0)1’% i_%(%‘“% IBEE - (13 ~178F) 4h H26.4.1] 4110 6,160 149.9%
gggﬁﬁ?é S BT A fE (9 ~178%) 8h H26.4.1] 8230 12,320 149.7%
IRE - £ 4 EFRES) 1h H26.4.1] 1,130 1,690 149.6%
hL—= |RE- 41 (9B~ 138F)4h H26.4.1] 3570 5,350 149.9%
YT B E - £ (138 ~1785) 4h H26.41| 3570 5,350 149.9%
& BT A fE (9 ~178%) 8h H26.4.1] 7,160 10,700 149.4%
IRE - £ 4 EFRES) 1h H26.4.1 970 1,450 149.5%
RS [IRE- 4RO ~138)4h H26.4.1] 15630 2,440 149.7%
IBEE - (13 ~178F) 4h H26.4.1] 1,630 2,440 149.7%
BT - A fE (9 ~178%) 8h H26.4.1] 3,300 4,880 147.9%
IRE - £ 4 EFRES) 1h H26.4.1 550 820 149.1%
7743 |IRE A4 (9K~ 138F) 4h H26.4.1] 610 910 149.2%
~v IBEE - AR (13~ 178F) 4h H26.4.1 610 910 149.2%
oA BT - A fE (9 ~178%) 8h H26.4.1| 1,240 1,820 146.8%
RE - A B 1h H26.4.1 200 300 150.0%
SRAGE | — 8-S (9B ~13EF) 4h H26.4.1] 5220 7,830 150.0%
i_%(%‘“tﬁb —f% -4 (1385~ 178F) 4h H26.4.1] 5220 7,830 150.0%
<8 —fi% - E A (9B ~178F) 8h H26.4.1] 10460 15,660 149.7%
— % -4 (BFRES) 1h H26.4.1| 1420 2,130 150.0%
FL—= | —f&- 54 (9B~ 138F) 4h H26.4.1] 5430 8,140 149.9%
VTN — | — g2 (1385~ 1785) 4h H26.4.1] 5,430 8,140 149.9%
L — & -4 (9BF~178%) 8h H26.4.1] 10,890 16,280 149.5%
— % -4 (BRES) 1h H26.4.1] 1480 2,220 150.0%
HHES | —f8-PHE (9B~ 138F) 4h H26.4.1] 2200 3,300 150.0%
— & -4 (1308~ 178F) 4h H26.4.1] 2,200 3,300 150.0%
—fi% - A (9B ~178F) 8h H26.4.1] 4400 6,600 150.0%
— % -4 (BRES) 1h H26.4.1 700 1,050 150.0%
7743 | —fR-2H (9B~ 13FF) 4h H264.1] 820 1,230 150.0%
“ — % - 24 (138 ~178%) 4h H26.4.1 820 1,230 150.0%
Kamls —fi& -4 (9B~ 17H%) 8h H26.4.1] 1,650 2,460 149.1%
—h% -4 (BERISN) 1h H26.4.1 260 390 150.0%
RAE | SkhE (9B~ 138 4h H2841] 4110 6,160 149.9%
15 (&0 [ZE%E (1385~ 1785 4h H28.4.1] 4110 6,160 149.9%
=& EEE (9B~ 178F)8h H28.4.1] 8230 12,320 149.7%
=8 (B 1h H28.4.1] 1130 1,690 149.6%
hL—= |SH#hE (98~ 136F) 4h H28.4.1] 3,570 5,350 149.9%
VTV~ | SHbE (1385~ 1785) 4h H28.4.1] 3570 5,350 149.9%
& EEhE (9B~ 178F) 8h H28.4.1] 7.160 10,700 149.4%
=8 (B 1h H28.4.1 970 1,450 149.5%
1S | SHHE (OB~ 138 4h H28.4.1] 1630 2,440 149.7%
SEhE (138~ 178) 4h H28.4.1] 1630 2,440 149.7%
EEhE (9B~ 178F) 8h H28.4.1] 3300 4,880 147.9%
=8 (B 1h H28.4.1 550 820 149.1%
U343 | Sl (9B~ 138F) 4h H28.4.1] 610 910 149.2%
~7 EEhE (138 ~1785)4h H28.4.1 610 910 149.2%
VA= =l E (9FF~178F) 8h H28.4.1| 1240 1,820 146.8%
= EE (BFES) 1h H28.4.1 200 300 150.0%
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HiEfE [(BERFA BAEISER ZOMDEY |HEGE  [FEEF| B B (9B~ 138) 4h H26.4.1] 6410 9,610 149.9%
E?ﬁ-ﬁﬁ'éi% 15 (&0 JEEFIEM (13 ~178) 4h H26.4.1| 6,410 9,610 149.9%
= =& JE=FI B 84 (98 ~ 178%) 8h H26.4.1] 12,840 19,220 149.7%

JEEF B (BRES) 1h H26.4.1] 3520 5,280 150.0%

E 7 B # (98~ 136F) 4h H26.4.1] 26,700 40,050 150.0%

B8 (138~ 1785) 4h H26.4.1] 26,700 40,050 150.0%

E 7 B # (95~ 1785) 8h H26.4.1] 53420 80,100 149.9%

EFI B8 (B 1h H26.4.1] 7,330 10,990 149.9%

HiEfE [(EAHEE - - - RE-41%2h H26.4.1 90 130 144.4%
RE-Af@HBHF11H H26.4.1 900 1,350 150.0%

— &P 4 2h H26.4.1 160 240 150.0%

— %A (EEFFR118) H26.4.1] 1,600 2,400 150.0%

S 2h H28.4.1 90 130 144.4%

EEE (EEEF1180) H28.4.1 900 1,350 150.0%

MR lE TU—F& KEMGEE |- (9B ~ 138%) 4h H26.4.1| 12,440 18,660 150.0%
(1385 ~178F) 4h H26.4.1] 12,440 18,660 150.0%

(9FF~178F) 8h H26.4.1] 24,910 37,320 149.8%

(BRES) 1h H26.4.1] 3410 5,110 149.9%

BRBEEE (- (9B ~ 130%) 4h H26.4.1] 1230 1,840 149.6%
(1385 ~178F) 4h H26.4.1] 1,230 1,840 149.6%

(9FF~178F) 8h H26.4.1] 2,470 3,680 149.0%

(BERES) 1h H26.4.1 600 900 150.0%

BNEEEE |- (9B ~ 138%) 4h H26.4.1] 11,340 17,010 150.0%
(1385 ~178F) 4h H26.4.1] 11,340 17,010 150.0%

(9RF~ 170F) 8h H26.4.1] 22,710 34,020 149.8%

(BERES) 1h H26.4.1] 3110 4,660 149.8%

®E=E - (9% ~ 138%) 4h H26.4.1 310 460 148.4%
(1385 ~178F) 4h H26.4.1 310 460 148.4%

(9RF~ 170F) 8h H26.4.1 650 920 141.5%

(BERES) 1h H26.4.1 100 150 150.0%

2 - (9FF ~138F) 4h H26.4.1 310 460 148.4%
(1385 ~178F) 4h H26.4.1 310 460 148.4%

(9RF~ 170F) 8h H26.4.1 650 920 141.5%

(BERESE) 1h H26.4.1 100 150 150.0%

LB = 2147 1h ek - 3,720 -
45 D324 1h e - 2,820 -

25 M1 84T 1h W = 1,620 =

45 M1 24T 1h wE - 1,140 -

FEAE B R BRBEEE (- (9B ~ 130%) 4h H26.4.1] 1230 1,840 149.6%
(1385~ 178%) 4h H26.4.1] 1230 1,840 149.6%

(9Fs~178F) 8h H26.4.1] 2470 3,680 149.0%

(BREISE) 1h H26.4.1 600 900 150.0%

REE - (9B ~ 138F) 4h H26.4.1 580 870 150.0%
(13BF~178F) 4h H26.4.1 580 870 150.0%

(9Fs~178F) 8h H26.4.1] 1,180 1,740 147.5%

(BREISE) 1h H26.4.1 160 240 150.0%

CES - (9BF ~ 136F) 4h H26.4.1 580 870 150.0%
(13BF~178F) 4h H26.4.1 580 870 150.0%

(9Fs~178F) 8h H26.4.1] 1,180 1,740 147.5%

(BREISE) 1h H26.4.1 160 240 150.0%

SEE - (9B ~ 138F) 4h H26.4.1 310 460 148.4%
(13K ~178F) 4h H26.4.1 310 460 148.4%

(9B ~ 178¥) 8h H26.4.1 650 920 141.5%

(B§REISE) 1h H26.4.1 100 150 150.0%

ZEEGRES) |- (9Fs ~138%F) 4h H26.4.1 310 460 148.4%
(13K ~178F) 4h H26.4.1 310 460 148.4%

(9B ~ 178¥) 8h H26.4.1 650 920 141.5%

(B§REISY) 1h H26.4.1 100 150 150.0%

[ ES = (9% ~ 138F) 4h b - 130 -
(1385~ 1785) 4h b - 130 -

(9B~ 178%) 8h i - 260 -

(BFREISE) 1h b - 40 -

IR E = £ 84T 1h b - 1,050 -
(S —SAE 45 DI/ 1h H - 690 -
) 25 M1 24T 1h wE - 510 -
45 MD1 24T 1h ek = 270 -

HRBAER IR - £ R4 1h Bk = 1,500 =
(55— RALE 45 D3R 1h Hi - 1,050 -
) 25 ND1 24T 1h ek - 750 -
45 MD1 24T 1h ek = 450 -

B E = 2847 1h b - 1,500 -
(FE=5RmE 45 D3IALT 1h P = 1,080 =

FI=N
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HE - BRAERTEE—AK H26.4.1 530 790 149.1%

NUER—)LTd—)L—=RK H26.4.1 210 310 147.6%

BHXNRrvbE—RK H26.4.1 210 310 147.6%

NREVARAZH—R H26.4.1 100 150 150.0%

HERE— H26.4.1 100 150 150.0%

NL—AR—)LBAXE—= H26.4.1 100 150 150.0%

EH1& H26.4.1 50 70 140.0%

B H26.4.1 10 10 100.0%

AR ERHNAOBR) | 71)—F K 7')—F 1h H26.4.1| 12,220 18,330 150.0%

‘EE 1h H26.4.1 100 150 150.0%

Z=E 1h H26.4.1 100 150 150.0%

BB ISR HARES (EBTE) 1h H26.4.1] 1,750 2,620 149.7%

ro—=U4 )L—L 1h H26.4.1 550 820 149.1%

£EE 1h H26.4.1 160 240 150.0%

FHEE 1h H26.4.1 220 330 150.0%

EEE 1h H26.4.1 100 150 150.0%

#E=E(E#EE) 1h H26.4.1 100 150 150.0%

BM#EZE 1h e = 40 _

ERAFA ASHZEEIRL |- IR - 44 (9B ~ 130%) 4h H26.4.1] 2,460 3,690 150.0%

BWNEE IRE - 45 (1385 ~178F) 4h H26.4.1] 2460 3,690 150.0%

BT A fE (9 ~178%) 8h H26.4.1] 4,950 7,380 149.1%

IRE - £ (178 ~218F) 4h H26.4.1| 3300] RELE -

IRE - £ 4 (BFRESN) 1h b - 1,240 -

—fi% - F 4 (9B ~ 13F%) 4h H26.4.1] 3300 4,950 150.0%

— %P4 (1385~ 178F) 4h H26.4.1] 3,300 4,950 150.0%

—fi% - A (9B~ 178F) 8h H26.4.1] 6,600 9,900 150.0%

— 5B (178 ~218F) 4h H26.4.1| 4950] REib -

—h% -4 (BEREISN) 1h o - 1,860 -

S A (9FF~ 1385) 4h H28.4.1| 2460 3,690 150.0%

SEhE (138~ 178) 4h H28.4.1| 2460 3,690 150.0%

EhE (9FF~1785) 8h H28.4.1| 4950 7,380 149.1%

SEhE (178 ~2185) 4h H284.1] 3300 Lt =

= EE (BFRES) 1h o - 1,240 -

BAES - IRE - 4 {E (9RF ~ 1385) 4h H26.4.1 10| EELE -

IR - A 4k (1385 ~ 178%) 4h H26.4.1 10| EELE -

IR - A (OB~ 178) 2h(CDE | #iEk - 80 -

RE -4 (EHF11H b - 800 -

IRE - £ (178 ~218F) 4h H26.4.1 170]  EELE -

IR - A5 (FFRES) 1h wE - 60 -

RE - A (EHF 1R RE) b - 600 -

—fi& - 24 (9BF~130%) 4h H26.4.1 230] EEIE -

— & -4 (130 ~ 178F) 4h H26.4.1 230] BRI -

—h% - (OBF~178F) 2hITDFE | sk - 170 -

—h% - (EIEHEF11HR) b - 1,700 -

—HR - (178 ~2185) 4h H264.1|  330] EELE -

—h% -4 (BERISN) 1h b - 120 -

—h% A (B 1148- R ) b - 1,200 -

= (9BF ~ 138F) 4h H28.4.1 10| i -

S EhE (1385~ 178F) 4h H28.4.1 110 BELE -

=l E (9FF~178F) 2hIZDFE b = 80 -

= EE (EEEF 118 b - 800 -

SEhE (17 ~218F) 4h H28.4.1 170  BEib -

= EnE (B 1h b - 60 -

=i E (B 118 R ) b - 600 -

5 S—F1VT (9BF~ 136F) 4h bl = 190 =

(13B¥ ~ 176%) 4h Eiild = 190 =

(9BF ~176%) 8h Eiild = 380 =

(BEfEst) 1h #ex = 190 =

BHE= (9BF ~138%) 4h s = 100 =

(13B¥ ~ 176%) 4h il = 100 =

(9BF ~176%) 8h il = 200 =

(B¥fEst) 1h s = 100 =

HEBH (i=KY) = 1h i - 300 -

HEBA (GRRI) = 1h i - 90 -

AE(ERAROSS) [S—FoF = h s Z 70 Z

BHEE = 1h i = 40 -




PN N . N B | se=x BEE
BT B72 B o S P [Fe—

343| 7 ERMA TIFAT R IF & - 4 4 (9B ~ 136%) 4h H28.4.1 620 930 150.0%
344 ﬂf_‘y%")%q’g IBE - 44 (138~ 178F) 4h H28.4.1 620 930 150.0%
345 L BT - A fE (9 ~176%) 8h H28.4.1] 1250 1,860 148.8%
346 RE - £ 4 (RS 1h H28.4.1 170 250 147.1%
347 — % - 24 (9B ~ 138F) 4h H28.4.1] 1,250 1,870 149.6%
348 — %24 (1305~ 178F) 4h H28.4.1| 1,250 1,870 149.6%
349 — % -2 4E (9B ~ 178F) 8h H28.4.1] 2,500 3,740 149.6%
350 —fi% -4 (BFRES) 1h H28.4.1 340 510 150.0%
351 S5 (9K~ 136%) 4h H28.4.1 620 930 150.0%
352 SihE (13~ 178 4h H28.4.1 620 930 150.0%
353 S (9FF~178%) 8h H28.4.1| 1,250 1,860 148.8%
354 =i E (FFESL) 1h H28.4.1 170 250 147.1%
355 FOHDEYIZ (9B ~ 130%) 4h H28.4.1| 2510 3,760 149.8%
356 AT 5E (130 ~178%) 4h H28.4.1] 2510 3,760 149.8%
357 (9RF~ 170F) 8h H28.4.1] 5,040 7,520 149.2%
358 (BRES) 1h H28.4.1 750 1,120 149.3%
359 BARUEKE |- LB OB AR UBHHEORER LIS | H26.4.1 0 -
360 MR lE SEE (9B ~ 130%) 4h H26.4.1 260 390 150.0%
361 (130~ 178%) 4h H26.4.1 260 390 150.0%
362 (9mF~178F) 8h H26.4.1 530 780 147.2%
363 (BERES) 1h H26.4.1 100 150 150.0%
364 y)— 1A-1E H26.4.1 20 30 150.0%
365 HERAMA ABHZEEIRL IR & - & fE4h H26.4.1] 8730 13,090 149.9%
366 WSS —f% - 4h H26.4.1| 17.480 26,220 150.0%
367 ShE4h H28.4.1] 8,730 13,090 149.9%
368 BAES - IBE -4 5E2h H26.4.1 220 330 150.0%
369 RE - &4 (EHF118%0 H26.4.1] 2,200 3,300 150.0%
370 RE £ (EHH14F) H26.4.1] 11,000 16,500 150.0%
371 —fR-FH2h H26.4.1 450 670 148.9%
372 — % -4 (EHEF1180) H26.4.1] 4,500 6,750 150.0%
373 — % -F 4 EHFH1F) H26.4.1] 22,500 33,750 150.0%
374 ShE2h H28.4.1 220 330 150.0%
375 EEE (EEF118) H28.4.1| 2250 3,370 149.8%
376 EnE CEF1E) H28.4.1| 11,250 16,870 150.0%
377 ERFIA = IREE - A fE (9B~ 128%) 3h o - 2,910 =
378 IR & - 4 4 (1285 ~ 158%) 3h e - 2,910 -
379 IRE - £ 4E (1585~ 18FF) 3h e - 2,910 -
380 IRE - A (FFRES) 1h b - 970 -
381 — % - A (9BF~ 12FF) 3h wE - 4,890 -
382 —H% -4 (1285~ 156%) 3h b - 4,890 -
383 —f% -4 (1585~ 186F) 3h wE - 4,890 -
384 —h% -4 (BERISN) 1h Wik - 1,630 =
385 = B0 (9FF~12FF) 3h b - 2,910 -
386 = #hE (1265~ 156%) 3h b - 2,910 -
387 = #h% (1565~ 186F) 3h b - 2,910 -
388 = EE (B 1h b - 970 -
389 BAES = IREE - A fE (9B~ 128%) 3h wE - 120 =
390 IR & - 4 4 (1285 ~ 158%) 3h e - 120 -
391 IRE - £ 4 (1585 ~ 18FF) 3h wE - 120 =
392 IR - A (FFRES) 1h wE - 40 =
393 —f% -S4 (9BF ~12F) 3h ik - 240 -
394 —fi% -S4 (1265~ 158%) 3h ik - 240 -
395 —fi% -S4 (1565~ 18FF) 3h ik - 240 -
396 —h% -4 (BERISN) 1h b - 80 -
397 =8 (9FF~128F)3h b - 120 -
398 =& (1285~ 158%) 3h b - 120 -
399 =& (158 ~18FF) 3h b - 120 -
400 = EnE (B 1h b - 40 -




